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ઉમેદવાર ેનીચેની સૂચનાઓનંુ પાલન કરવાની તકેદારી રાખવી, અլયથા વાંધા-સૂચન અંગ ેકરલે રજૂઆતો իયાને
લેવાશે નહી ં
(1) ઉમેદવાર ેવાધંા-સચૂનો િનયત કરવામા ંઆવેલ વાંધા-સૂચન પԋકથી રજૂ કરવાના રહેશે. 
(2) ઉમેદવાર ેԐՇԐમાણે વાધંા-સચૂનો રજૂ કરવા વેબસાઈટ પર Ԑિસիધ થયેલ િનયત વાંધા-સૂચન પԋકના નમૂનાનો જ

ઉપયોગ કરવો.
(3) ઉમેદવાર ેપોતાન ેપરીԟામા ંમળેલ ԐՇપુિչતકામા ંછપાયેલ ԐՇԃમાંક મુજબ વાંધા-સૂચનો રજૂ ન કરતા તમામ વાંધા-

સૂચનો વેબસાઈટ પર Ԑિસիધ થયેલ Ԑોિવઝનલ આլસર કી (માչટર ԐՇપԋ)ના ԐՇ ԃમાંક મુજબ અન ેતે સંદભӪમાં
રજૂ કરવા. 

(4) માչટર ԐՇપԋ મા ંિનિદӪ Ջ ԐՇ અને િવકճપ િસવાયના વાંધા-સચૂન իયાન ેલેવામાં આવશ ેનહી.ં 
(5) ઉમેદવાર ેજ ેԐՇના િવકճપ પર વાંધો રજૂ કરલે છે અન ેિવકճપ ԁપ ેજ ેજવાબ સચૂવેલ છે એ જવાબ ઉમેદવાર ેપોતાની

ઉԱરવહીમા ંઆપેલ હોવો જોઈએ. ઉમેદવાર ેસચૂવેલ જવાબ અને ઉԱરવહીનો જવાબ િભՂ હશ ેતો ઉમેદવાર ેરજૂ
કરલે વાંધા-સચૂન իયાનમા ંલેવાશ ેનહી.ં 

(6) એક ԐՇ માટે એક જ વાંધા-સૂચન પԋક વાપરવું. એક જ વાંધા-સૂચન પԋકમા ંએકથી વધાર ેԐՇોની રજૂઆત કરલે
હશે તો ત ેઅંગેના વાધંા-સચૂનો իયાન ેલેવાશ ેનહી.ં 
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001. økwshkík{kt ð»ko 1991 Úke 2001 ËhBÞkLk ðMíke ð]rØLkku Ëh 22.66% níkku, su ð»ko 2001 Úke 2011 ËhBÞkLk fux÷ku ÚkÞku ?

(A) 20.30% (B) 19.17%

(C) 17.69% (D) 19.90%

002. ð»ko 2001 Lke ÂMÚkríkLke Mkh¾k{ýe{kt ð»ko 2011 Lke ÂMÚkríkyu Lke[u Ëþkoðu÷k hkßÞku Ãkife fÞk hkßÞ{kt MkuõMk hurþÞku (Ëh
1000 ÃkwY»kkuyu - {rn÷kykuLke MktÏÞk) ½xðk Ãkk{u÷ Au ?

(A) rn{k[÷ «Ëuþ (B) sB{w yLku fkÂ~{h

(C) W¥kh «Ëuþ (D) fýkoxf

003. ¼khík{kt rð{kLk WœÞLkLkk MktË¼o{kt ÄwB{MkLke ykøkkne «rík fux÷k f÷kfu ònuh fhðk{kt ykðu Au ?

(A) ºký (B) çku

(C) A (D) [kh

004. ¼khík{kt MkwLkk{e [uíkðýe ÃkØríkLke þYykík fÞk ð»ko{kt fhðk{kt ykðu÷ Au ?

(A) 2010 (B) 2005

(C) 2006 (D) 2007

005. Lke[uLkk rðÄkLkku rð[khýk{kt ÷ELku fÞwt rðÄkLk/rðÄkLkku Mkk[kt Au íkuLkku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

1. fku[eLk çktËh rð®÷øxLk xkÃkw Ãkh ykðu÷ Au.

2. ÃkkhkËeÃk çktËhLku 1966Lkk ð»ko{kt ¼khíkLkk ykX{k {wÏÞ çktËh íkhefu ¼khík Mkhfkhu ònuh fhu÷ Au.

3. sðknh÷k÷ LkunY çktËh 1989Lkk ð»ko{kt þY ÚkÞu÷ Au.

(A) {kºk 1 yLku 3 (B) 1, 2 yLku 3

(C) {kºk 2 yLku 3 (D) {kºk 1 yLku 2

006. ¼khíkLkwt fÞwt hkßÞ íkuLkk rðrðÄ «fkhLkk ¾zfku yLku ¾rLkòu {kxu ðirïf Míkhu òýeíkwt Au, yLku íkuLku “híLk øk¼o” fnuðk{kt
ykðu Au ?

(A) hksMÚkkLk (B) rçknkh

(C) A¥keMkøkZ (D) yktÄú «Ëuþ

007. Mkkih Qòo ûkuºku ðuøk {¤u íku nuíkwÚke økwshkík ð»ko .......... {kt Mkkih Lkerík (Solar Policy) MkkÚku ykðLkkh ËuþLkwt «Úk{ hkßÞ
çkLÞw Au.

(A) 2009 (B) 2010

(C) 2008 (D) 2012

008. 1970{kt økúk{eý ðes¤efhý Mkku xfk «kÃík fhLkkh ËuþLkwt «Úk{ hkßÞ fÞwt níkwt ?

(A) Ãktòçk (B) nheÞkýk

(C) {nkhk»xÙ (D) WÃkh Ãkife yuf Ãký Lknª

009. rËLk ËÞk÷ WÃkkæÞkÞ økúk{eý fkiþÕÞ ÞkusLkkLke þYykík fÞk ð»ko{kt ÚkE níke ?

(A) 2015 (B) 2016

(C) 2014 (D) 2017
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010. Lke[uLkk rðÄkLkku rð[khýk{kt ÷ELku íku Ãkife fÞk rðÄkLk/rðÄkLkku Mkk[wt/Mkk[kt Au íkuLkku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

1. fuÕMkkExLkk WíÃkkËLk{kt ¼khík{kt økwshkík ºkesu MÚkkLku ykðu Au.

2. økwshkíkLkk ¾kãÃkkfku{kt MkkiÚke ðÄw ðkðuíkh ½ôLkwt ÚkkÞ Au.

(A) {kºk 1 (B) 1 yLku 2

(C) {kºk 2 (D) 1 yLku 2 çktLku{ktÚke yuf Ãký Lknª

011. ¼khík{kt LkkUÄkÞu÷k «kýeykuLkk Mk{qn{kt økwshkík{kt MkkiÚke ðÄw þwt LkkUÄkÞu÷ Au ?

(A) {íMÞ (B) MkrhMk]Ãk

(C) MkMíkLk «kýeyku (D) Ãkûkeyku

012. ÷wMkkE xufheyku õÞkt ykðu÷e Au ?

(A) r{Íkuh{ (B) {u½k÷Þ

(C) yYýk[÷ «Ëuþ (D) Lkkøkk÷uLz

013. {kUnu-òu-ËzkuLke MktMf]ríkLkk Mksofku fkuý økýkÞ Au ?

(A) ÿrðz ÷kufku (B) ykÞkuo ÷kufku

(C) rLk»kkË ÷kufku (D) Lkuøkúexku (nçkMke) ÷kufku

014. ÃkkxýLkk Ãkxku¤kt MktçktÄ{kt Lke[uLkk rðÄkLkku rð[khýk{kt ÷ku yLku fÞwt rðÄkLk/rðÄkLkku Mkk[wt/Mkk[kt Au íkuLkku ÞkuøÞ rðfÕÃk
ÃkMktË fhku.

1. rMkØhks sÞ®MknLkk þkMkLkfk¤ Ëhr{ÞkLk fkheøkhku ykðeLku ðMÞk níkk.

2. yu{Lke yk f¤k ykþhu 850 ð»kkuoÚke Ãký rðþu»k «k[eLk nkuðkLkwt {LkkÞ Au.

3. ÃkkxýLkk Ãkxku¤k{kt çktLku çkkswyu yuf s ykfkh «ËŠþík Úkíkku nkuðkÚke çktLku çkkswyu Ãknuhe þfkÞ Au.

(A) 1 yLku 2 (B) 1 yLku 3

(C) 2 yLku 3 (D) 1, 2 yLku 3

015. “LkkxâþkMºk” yLku “yr¼Lkð ËÃkoý” yu çku økútÚkku fkuLkk ykÄkh-Mºkkuík Au ?

(A) fq[eÃkwze (B) fÚkf

(C) ¼híkLkkxâ{T (D) ykurzMke

016. ¼økðkLk çkwØLkk þhehLkk rðrðÄ yðþu»kkuLku Ëkçkzk{kt {qfe íkuLkk WÃkh ÃkÚÚkh fu #xkuLkwt ytzkfkhLkwt [ýíkh fhðk{kt ykðíkwt,
íkuLku þwt fnu Au ?

(A) nŠ{fk (B) MíkqÃk

(C) {urÄ (D) íkkuhý

017. {kuZuhkLkk MkqÞo{trËh{kt MkqÞoLke fux÷e rðrðÄ {qŠíkyku ytrfík ÚkÞu÷e yksu òuE þfkÞ Au ?

(A) 12 (B) 108

(C) 24 (D) 51
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018. Lke[uLkkt òuzfkt Ãkife fÞwt òuzfwt ¾kuxwt Au ?

1. ELzeÞLk BÞwÍeÞ{ – f÷f¥kk

2. LkuÃkeÞh BÞwÍeÞ{ – çkUø÷kuh

3. ykÕçkxo nku÷ BÞwÍeÞ{ – sÞÃkwh

4. LkuþLk÷ BÞwÍeÞ{ ykuV LkuþLk÷ neMxÙe – rËÕne

(A) 1 (B) 3

(C) 4 (D) 2

019. ¾uhkE Ãkwò (Kherai Puja) Lkku WíMkð fE sLk{rík îkhk {Lkkððk{kt ykðu Au ?

(A) ¾kMke (B) siÂLíkÞk

(C) çkkuzku (D) WÃkh Ãkife yuf Ãký Lknª

020. hkýfe ðkð MktçktÄ{kt Lke[uLkk rðÄkLkku rð[khýk{kt ÷ku. Lke[uLkk rðÄkLkku Ãkife fÞwt/fÞk rðÄkLk Mkk[wt/Mkk[kt Au ?

1. [k÷wõÞ ðtþ ËhBÞkLk hkýfe ðkðLkwt çkktÄfk{ ÚkÞwt níkwt.

2. íku LktËk «fkhLke ÃkøkrÚkÞkðk¤e ðkð Au.

3. rðï rðhkMkík MÚk¤ku{kt íkuLkku Mk{kðuþ ð»ko 2014{kt ÚkÞu÷ Au.

(A) 1, 2 yLku 3 (B) 1 yLku 3

(C) 2 yLku 3 (D) 1 yLku 2

021. ð»ko 2019Lkwt íkkLkMkuLk MkB{kLk fkuLku {¤u÷ Au ?

(A) {tsw {nuíkk (B) Ãktrzík WÕ÷kMk fuþ÷fh

(C) Ãktrzík rðãkÄh ÔÞkMk (D) Ãktrzík Ë÷[kLk þ{ko

022. økkÞfðkz MkhfkhLkk íkktçkkLkk rMk¬kyku fÞk Lkk{u yku¤¾kíkk níkk ?

(A) çkkçkkþkE (B) ðzkuËrhÞk

(C) ©e rMk¬k (D) [ktËkuhe

023. çkkËþkn yfçkhu fk÷økýLkk {kxu E÷kne Mkðtík þY fÞkuo níkku íku{kt 32 rËðMkLkk {kMkLkwt Lkk{ .......... hk¾u÷ Au.

(A) hkus (B) þçk

(C) [ktÿ {kMk (D) shÚkkuMíke {kMk

024. “÷e÷wze Ähíke” fÞk MkkrníÞfkhLke f]rík Au ?

(A) nheLÿ Ëðu (B) Eïh Ãkux÷efh

(C) ÃkLLkk÷k÷ Ãkxu÷ (D) [wLke÷k÷ {rzÞk

025. ¼khík{kt rçkúrxþ EMx EÂLzÞk ftÃkLke yLku £uLMk EMx EÂLzÞk ftÃkLke ðå[u Mk¥kk MÚkkÃkðk ºký fýkoxf rðøkúnku fÞk
yhMkk{kt ÚkÞk níkk ?

(A) E.Mk. 1746 Úke 1760 (B) E.Mk. 1687 Úke 1746

(C) E.Mk. 1746 Úke 1763 (D) E.Mk. 1613 Úke 1687
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026. ¼khík{kt fÞk økðLkoh sLkh÷u ‘Sík, sÃíke yLku ¾k÷Mkk Lkerík’ yÃkLkkðe níke ?

(A) ðu÷uM÷e (B) Mkh ßnkuLk þkph

(C) fkuLkoðkur÷Mk (D) zu÷nkWMke

027. yMknfkh yktËku÷LkLkk MktçktÄ{kt Lke[uLkk{ktÚke fÞwt rðÄkLk/rðÄkLkku ¾kuxwt/¾kuxkt Au ?

1. yMknfkhLkk yktËku÷LkLku Mkqhík yrÄðuþLk{kt çknk÷e {¤e níke.

2. yktËku÷LkLkk nfkhkí{f ÃkkMkk{kt rnLËw {wÂM÷{ yuõíkk {sçkqík çkLkkððe.

3. rx¤f MðhkßÞ Vtz{kt yuf fhkuz YrÃkÞk yufXk fhðk.

(A) 1 yLku 3 (B) {kºk 1

(C) 1 yLku 2 (D) 2 yLku 3

028. “®nË Akuzku” yktËku÷Lk Ëhr{ÞkLk y{ËkðkË{kt fkÃkzLke 75 r{÷kuLkk yuf ÷k¾ [k÷eMk nòh {sqhkuyu fux÷k rËðMkLke
þktík yLku yÃkqðo nzíkk÷ Ãkkze níke ?
(A) 90 (B) 75
(C) 105 (D) 102

029. “Vkuhðzo ç÷kuf” Lkk{Lkk hksfeÞ ÃkûkLke MÚkkÃkLkk fkuýu fhe níke ?

(A) {kuíke÷k÷ LkunY (B) Mkw¼k»k[Lÿ çkkuÍ

(C) r[íkhtsLk ËkMk (D) WÃkh Ãkife yuf Ãký Lknª

030. E. Mk. 1907{kt fÞk MÚk¤u ÞkuòÞu÷ fkUøkúuMk yrÄðuþLk{kt {ðk¤ðkËe yLku snk÷ðkËe sqÚk yuf ÚkE økÞkt níkk ?

(A) {wtçkE (B) ÷¾Lkki

(C) f÷f¥kk (D) Mkqhík

031. fkfkuhe xÙuLk ÷qtx{kt Lke[uLkk Ãkife fkuýu ¼køk ÷eÄku Lk níkku ?

(A) yþVkf WÕ÷k ¾kt (B) [tÿþu¾h ykÍkË

(C) ¾wËehk{ çkkuÍ (D) hk{ «MkkË rçkÂM{÷

032. Lke[uLkk ðtþLku fk¤ ¢{kLkwMkkh økkuXðeLku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

1. Mktøk{ ðtþ       2. Mkk÷wð ðtþ       3. íkw÷wð ðtþ
(A) 1, 2, 3 (B) 3, 2, 1
(C) 2, 1, 3 (D) 3, 1, 2

033. ykÍkËe çkkË MkhËkh ðÕ÷¼¼kE Ãkxu÷u Mkkihk»xÙLkk hksðeykuLku ½ýe WËkh þhíkku ykÃkíkkt íkk. 11-2-1948 Lkk hkus
Mkkihk»xÙLkk LkkLkkt {kuxkt .......... Ëuþe hkßÞ yá~Þ ÚkÞk yLku yu{Lkwt yuf y÷øk yuf{ h[kÞwt níkwt.
(A) 182 (B) 192
(C) 222 (D) 212

034. fÞk økðLkoh sLkh÷Lkk Mk{Þ{kt f÷f¥kk, {wtçkE yLku {ÿkMk ÞwrLkðŠMkxeLke MÚkkÃkLkk ÚkE níke ?

(A) ÷kuzo zu÷nkWMke (B) ÷kuzo fu®Lkøk

(C) ÷kuzo yuÂÕøkLk (D) ÷kuzo ÷kuhuLMk

035. Mkh MkiÞË y÷e E{k{Lkk «{w¾ÃkË nuX¤ {wM÷e{ ÷eøkLkwt «Úk{ ðkŠ»kf yrÄðuþLk fÞk MÚk¤u ÞkuòÞwt níkwt ?

(A) y{]íkMkh (B) ÷¾Lkki

(C) f÷f¥kk (D) {wtçkE
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036. r¾÷kVík [¤ð¤ yLku yMknfkhLkk yktËku÷Lk ð¾íku ¼khíkLkk økðLkoh sLkh÷ ÃkËu fkuý níkwt ?

(A) ÷kuzo nkŠzs (B) ÷kuzo [uBMkVzo

(C) ÷kuzo r{Lxku (D) ÷kuzo fÍoLk

037. ¼khík MkhfkhLkk fÞk ð»koLkk çksux{kt MkkuðhuLk økkuÕz çkkuLz Mfe{Lke ònuhkík fhðk{kt ykðe níke ?

(A) 2014-15 (B) 2016-17
(C) 2015-16 (D) 2017-18

038. yMktøkrXík ûkuºkkuLkk fkheøkhku {kxu “Mðkð÷tçkLk ÞkusLkk” fÞk ð»ko{kt þY fhðk{kt ykðe níke ?

(A) 2011 (B) 2010
(C) 2012 (D) 2015

039. ftÃkLke ÷ku çkkuzoLke «kËurþf þk¾k Lke[uLkk Ãkife fÞk MÚk¤u ykðu÷ LkÚke ?

(A) {wtçkE (B) f÷f¥kk

(C) niËhkçkkË (D) [uLLkkE

040. Lke[uLkk rðÄkLkku rð[khýk{kt ÷ELku fÞwt rðÄkLk/rðÄkLkku ¾kuxwt/¾kuxkt Au íkuLkku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

1. çkòh ÃkØrík{kt ykŠÚkf rLkýoÞku ¼kðíktºkLkk ykÄkhu ÷uðkÞ Au.

2. çkòh ÃkØríkLku {qzeðkËe ÃkØrík fnu Au.

3. Mk{ksðkË{kt ykðfLke ðnU[ýe yMk{kLk çkLku Au.

4. r{© yÚkoíktºk{kt çkòhku MktÃkqýo {wõík nkuÞ Au.

(A) 3 yLku 4 (B) 1 yLku 4

(C) 2 yLku 3 (D) 1, 3 yLku 4

041. Lke[uLkk rðÄkLkku rð[khýk{kt ÷ELku fÞwt/fÞkt rðÄkLk/rðÄkLkku ¾kxkt Au, íkuLkku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

1. ¾kLkøkefhý yux÷u ¾kLkøke {kr÷feLkk Wãkuøkku hkßÞ îkhk nMíkøkík fhðkLke Lkerík.

2. ¼khíkeÞ yÚkoíktºkLku rðï yÚkoÔÞðMÚkkLkku yuf ¼køk çkLkkððkLke Lkerík yux÷u ykŠÚkf WËkhefhý

(A) {kºk 1 (B) {kºk 2

(C) 1 yLku 2 çktLku (D) 1 yÚkðk 2 çktLku{ktÚke yufÃký Lknª

042. ¼khík{kt ¾uíkeûkuºku fÞk «fkhLke çkufkhe/çkuhkusøkkhe òuðk {¤u Au ?

(A) [¢eÞ çkuhkusøkkhe (B) {k¤¾køkík çkuhkusøkkhe

(C) {kuMk{e çkuhkusøkkhe (D) «åALLk çkufkhe

043. ykŠÚkf Mkðuoûký 2019-20 yLkwMkkh ð»ko 2019-20{kt økúkuMk zku{uMxef «kuzõx (GDP) Lkku ð]rØ Ëh fux÷k xfkLkku yLkw{krLkík
fhðk{kt ykðu÷ Au ?

(A) 5% (B) 6.8%
(C) 6.5% (D) 6.0%

044. ¼khíkeÞ heÍðo çkUf Ëh .......... {rnLku LkkýkfeÞ LkeríkLke Mk{eûkk fhu Au.

(A) ºký (B) çku

(C) [kh (D) A
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045. ¼khík Mkhfkh îkhk fÞk ð»koLkk ytËksÃkºk{kt “ykuÃkhuþLk økúeLMk ÞkusLkk” þY fhðkLke òuøkðkE fhðk{kt ykðe níke ?
(A) 2015-16 (B) 2016-17
(C) 2017-18 (D) 2018-19

046. hk»xÙeÞ Mknfkhe rðfkMk rLkøk{Lkk MktçktÄ{kt Lke[uLkk rðÄkLkku rð[khýk{kt ÷ku. Lke[uLkk rðÄkLk/rðÄkLkku Ãkife fÞwt rðÄkLk/
rðÄkLkku Mkk[wt/Mkk[kt Au.

1. íkuLke MÚkkÃkLkk ð»ko 1963{kt ÚkE níke.

2. ËuþLkk ¾uzqíkkuLke ykðf çk{ýe fhðk {kxu ‘r{þLk Mknfkh-22’Lke þYykík íkuLkk îkhk fhðk{kt ykðu÷ Au.

3. rLkøk{ îkhk ‘Þwðk Mknfkh Wã{ MknÞkuøk yLku Lkðk[kh ÞkusLkk’Lke þYykík fhðk{kt ykðu÷ Au.

(A) 1 yLku 3 (B) 1 yLku 2

(C) 1, 2 yLku 3 (D) 2 yLku 3

047. rnLËwMíkkLk Mxe÷ r÷r{xuz Lke[uLkk Ãkife õÞkt ykðu÷ LkÚke ?

(A) ¼ÿkðíke (B) Yhfu÷k

(C) r¼÷kE (D) ËwøkkoÃkwh

048. fuLÿ Mkhfkh îkhk ð»ko 1978 {kt Lke[uLkk Ãkife fE Lkkux çktÄ fhðk{kt ykðu÷ níke ?

(A) YrÃkÞk 1,000 Lke (B) YrÃkÞk 1,000 íkÚkk 5,000 Lke

(C) YrÃkÞk 5,000 Lke (D) YrÃkÞk 1,000, 5,000 íkÚkk 10,000 Lke

049. Lke[u Ëþkoðu÷ Ãkife fkuLkwt hkßÞMk¼k{kt «ríkrLkrÄíð Au ?

(A) rËÕne (B) ÃkkUze[uhe

(C) rËÕne yLku ÃkkUze[uhe (D) çktLku{ktÚke yuf Ãký Lknª

050. 84{kt çktÄkhýeÞ MkwÄkhkÚke Ëhuf hkßÞLku ð»ko 1971Lke ðMkíke økýíkheLkk ykÄkhu ÷kufMk¼k{kt Vk¤ððk{kt ykðu÷ çkuXfkuLke
MktÏÞk fÞk ð»ko MkwÄe ÞÚkkðík hnuþu íku{ òuøkðkE fhðk{kt ykðe Au ?

(A) ð»ko 2011 (B) ð»ko 2021

(C) ð»ko 2026 (D) ð»ko 2031

051. MktMkËLkk Mkºkku çkku÷kððk, Mkºk Mk{kÂÃík yLku ÷kufMk¼kLkwt rðMksoLk fhðkLke Mk¥kk hk»xÙÃkríkLku ¼khíkLkk MktrðÄkLkLkk fÞk
yLkwåAuË nuX¤ {¤u÷ Au ?

(A) yLkwåAuË - 83 (B) yLkwåAuË - 85

(C) yLkwåAuË - 86 (D) yLkwåAuË - 88

052. hkßÞLkeríkLkk {køkoËþof rMkØktíkku{kt fÞk yLkwåAuË{kt M{khfku íkÚkk hk»xÙeÞ {n¥ðLkk MÚkkLkku yLku ðMíkwykuLkk MkthûkýLke
òuøkðkE fhðk{kt ykðe Au ?

(A) yLkwåAuË - 49 (B) yLkwåAuË - 48-yu

(C) yLkwåAuË - 48 (D) yLkwåAuË - 47

053. ¼khíkLkk MktrðÄkLkLkk yk{w¾{kt íkuLkk Mkðo LkkøkrhfkuLku Mkk{krsf, ykŠÚkf yLku hksfeÞ .......... «kÃík ÚkkÞ íkuðku MktfÕÃk
fhðk{kt ykðu÷ Au.

(A) Mk{kLkíkk (B) LÞkÞ

(C) Mðíktºkíkk (D) íkf
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054. ¼khíkLkk MktrðÄkLkLkk ¼køk-3 {ktLke {q¤¼qík nfkuLke òuøkðkEyku Ãkife Lke[uLkk{ktLkk fÞk yLkwåAuËLke òuøkðkE ¼khíkLkk
Lkkøkrhf Lk nkuÞ íkuðe ÔÞÂõíkLku ÷køkw Ãkzu Au ?

(A) yLkwåAuË - 14 (B) yLkwåAuË - 15

(C) yLkwåAuË - 19 (D) yLkwåAuË - 14 yLku 22

055. Wå[ LÞkÞk÷ÞLkk fkuE LÞkÞkÄeþ fkuLku MktçkkuÄeLku ÃkkuíkkLke Mkneðk¤k ÷¾kýÚke ÃkkuíkkLkk nkuÆkLkwt hkSLkk{wt ykÃke þfu Au ?

(A) hk»xÙÃkríkLku (B) hkßÞÃkk÷Lku

(C) Wå[ LÞkÞk÷ÞLkk {wÏÞ LÞkÞkÄeþLku (D) Wå[ík{ LÞkÞk÷ÞLkk {wÏÞ LÞkÞkÄeþLku

056. fkuE Wå[ LÞkÞk÷Þ{kt fk{fks{kt Úkkuzk Mk{Þ Ãkqhíkku ðÄkhku ÚkðkLkk fkhýu ÞkuøÞ ÷kÞfkík Ähkðíke ÔÞÂõíkykuLku hk»xÙÃkrík
ðÄkhkLkk LÞkÞkÄeþ íkhefu ðÄw{kt ðÄw fux÷k Mk{Þ {kxu Lke{e þfu Au ?

(A) A {kMkLke {wËík {kxu (B) yuf ð»koLke {wËík {kxu

(C) ºký {kMkLke {wËík {kxu (D) çku ð»koLke {wËík {kxu

057. ¼khíkLkk MktrðÄkLkLke òuøkðkE ytíkøkoík Ëhuf Ãkt[kÞíkLke {wËík íkuLkwt ðnu÷w rðMksoLk Lk ÚkkÞ íkku fux÷e hnuþu ?

(A) [qtxýeLke íkkhe¾Úke Ãkkt[ ð»ko MkwÄe

(B) íkuLke Ãknu÷e çkuXf {kxu Lk¬e ÚkÞu÷e íkkhe¾Úke Ãkkt[ ð»ko MkwÄe

(C) [qtxýeLkk Ãkrhýk{Lke íkkhe¾Úke Ãkkt[ ð»ko MkwÄe

(D) Ãkt[kÞíkLkk AuÕ÷k rðMksoLkLke íkkhe¾Úke Ãkkt[ ð»ko MkwÄe

058. hkßÞ ònuh Mkuðk ykÞkuøkLkk MkÇÞkuLke MktÏÞk fkuý Lk¬e fhe þfu Au ?

(A) hk»xÙÃkrík (B) hkßÞLkk {wÏÞ{tºke

(C) hkßÞLkk hkßÞÃkk÷ (D) MktMkË

059. Lke[uLkk rðÄkLkku Ãkife fÞwt rðÄkLk/rðÄkLkku ¾kuxwt/¾kuxkt Au ?

1. hk»xÙÃkrík Wå[ LÞkÞk÷ÞLkk LÞkÞkÄeþ íkhefu rLk{kðkLku ÷kÞf nkuÞ íkuðe fkuE ÔÞÂõíkLku ¼khíkLkk yuxLkeo sLkh÷ íkhefu
Lke{e þfu Au.

2. yuxLkeo sLkh÷Lku ¼khíkLkk Wå[ík{ LÞkÞk÷Þ{kt s MkwLkkðýeLkku nf hnuþu.

(A) rðÄkLk 1 (B) rðÄkLk 2

(C) çktLku rðÄkLkku Mkk[kt Au (D) çktLku rðÄkLkku ¾kuxkt Au

060. yLkwMkqr[ík ykrËòríkyku {kxu “yLkwMkqr[ík ykrËòríkyku {kxu hk»xÙeÞ ykÞkuøk”Lke h[Lkk MktðeÄkLkLkk 89{kt MkwÄkhkÚke
fÞk ð»ko{kt fhðk{kt ykðu÷ Au ?

(A) E.Mk. 2004 (B) E.Mk. 2005

(C) E.Mk. 2008 (D) E.Mk. 2010

061. 500 {exh ÷ktçke {k÷økkze 220 {exh ÷tçkkELkk Ã÷uxVku{oLku 36 MkufLz{kt ÃkMkkh fhu Au, íkku {k÷økkzeLke «rík f÷kfLke
fux÷k rf÷ku{exhLke ÍzÃk nþu ?

(A) 56 (B) 60

(C) 72 (D) 80
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062. 10 rðãkÚkeoykuLke Mkhuhkþ ô{h 15 ð»ko Au. íku{kt 5 rðãkÚkeoykuLkku W{uhku Úkíkk Mkhuhkþ ô{h{kt 3 ð»koLkku ðÄkhku ÚkkÞ Au íkku
Lkðk W{uhkÞu÷ 5 rðãkÚkeoykuLke Mkhuhkþ ô{h fux÷e nþu ?

(A) 24 ð»ko (B) 18 ð»ko

(C) 22 ð»ko (D) 28 ð»ko

063. 112  119  140  175  ?
(A) 276 (B) 224
(C) 266 (D) 226

064. h{uþ, rËLkuþ yLku hksuþLke ðíko{kLk ô{hLkku hurþÞku 3 : 4 : 5 Au nk÷Lke íku{Lke Mkhuhkþ ô{h 28 ð»ko Au. Ãkkt[ ð»ko ÃkAe
h{uþ yLku rËLkuþLke fw÷ ô{h fux÷e nþu ?

(A) 52 ð»ko (B) 59 ð»ko

(C) 56 ð»ko (D) WÃkh Ãkife yuf Ãký Lknª

065. yuf ÔÞÂõík yuf ðMíkw 4800 YrÃkÞk{kt ¾heËu Au yLku 5% ¾kux ¾kELku íku ðu[e Lkk¾u Au yLku íku ÃkiMkk{ktÚke çkeS ðMíkw
¾heËu Au yLku íkuLku 5% LkVku ÷ELku ðu[u Au ykÚke íkuLku yuftËh LkVku/¾kux þwt ÚkÞwt nþu ?

(A) 18 YrÃkÞkLke ¾kux òÞ (B) 12 YrÃkÞkLkku LkVku ÚkkÞ

(C) 12 YrÃkÞkLke ¾kux òÞ (D) 18 YrÃkÞkLkku LkVku ÚkkÞ

066. 10 15  = ?

(A) 6 5 (B) 30

(C) 5 6 (D) WÃkh Ãkife yuf Ãký Lknª

067. òu yu yLku çke çktLku rð»k{ (odd) MktÏÞkyku Au, íkku Lke[uLkk{ktÚke Mk{ MktÏÞk (even number) fE Au ?

(A) yu + çke + 1 (a + b + 1) (B) yu + çke (a + b)

(C) yuçke (ab) (D) yuçke + 2 (ab + 2)

068. 1.75, 5.6 yLku 7 Lkku økwY¥k{ MkkÄkhý yðÞð þwt ÚkkÞ ?

(A) 3.5 (B) 0.35
(C) 0.07 (D) 0.7

069. òu fkuE fqx ¼k»kk{kt CHAIR ™u FKDLU ÷¾kÞíkku NAME Lku fuðe heíku ÷¾kÞ ?

(A) QDHP (B) QDPH
(C) QPDH (D) QPHD

070. fkuE yuf [ku¬Mk hf{Lkwt 10% Lkk ðkŠ»kf ÔÞks Ëhu çku ð»ko{kt [¢ð]rØ ÔÞks YrÃkÞk 2100 ÚkkÞ Au íkku yk s hf{Lkwt çku
ð»ko{kt MkkËwt ÔÞks fux÷k YrÃkÞk ÚkkÞ ?

(A) 1600 (B) 1800
(C) 2000 (D) 1700

071. yuf ÔÞÂõík 3 rf{e/f÷kf, 4 rf{e/f÷kf yLku 5 rf{e/f÷kfLke ÍzÃku Mkh¾wt ytíkh fkÃku Au yLku fw÷ Mk{Þ 47 r{rLkxLkku
ÚkkÞ Au íkuLkk îkhk fw÷ fux÷k rf.{e. ytíkhLke {wMkkVhe fhu÷ nþu ?

(A) 4 rf{e. (B) 6 rf{e.

(C) 5 rf{e. (D) 3 rf{e.
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072.
1 1 3, 0, , 1,

2 2 2


     , ...?...

(A) 
5
2

(B) 0

(C) 2 (D) WÃkh Ãkife yuf Ãký Lknª

073. Äe çkúufÚkúw «kEÍ Lke[uLkk Ãkife fÞk ûkuºk{kt ykÃkðk{kt ykðu Au ?

(A) økrýíkþkMºk (B) {q¤¼qík ¼kiríkfþkMºk (Fundamental Physics)

(C) sið rð¿kkLk (Life Science) (D) WÃkhLkk ºkýuÞ

074. þqLÞ rzøkúe MkuÕþeÞMk W»ýíkk{kLku ÃkkýeLkku çkkW÷ yLku çkhVLkku çkkW÷ hk¾ðk{kt ykðu íkku þwt VuhVkh ÚkE þfu Au ?

(A) fkuE VuhVkh Úkíkku LkÚke (B) çkÄku çkhV ykuøk¤e òÞ Au

(C) {kºk Úkkuzku çkhV ykuøk¤u Au (D) çkÄwt Ãkkýe çkhV ÚkE òÞ Au

075. Mkqfku çkhV (Dry ice) yu fkuLkwt Lk¬h MðYÃk Au ?

(A) LkkExÙkusLk (B) fkçkoLk zkÞkuõMkkEz

(C) Ãkkýe (D) nðk

076. ¼khík{kt Mkki«Úk{ fÞk ð»ko{kt {kLkðLkwt ÓËÞ «íÞkhkuÃký (Heart transplantation) ÚkÞwt níkwt ?

(A) 2000 (B) 2001

(C) 1994 (D) 1995

077. nðkLkk W»kýíkk{kLk{kt VuhVkh Úkíkkt yðksLkk økwýÄ{kuo{kt Lke[uLkk Ãkife þwt yMkh ÚkkÞ Au ?

(A) íkeðúíkk (B) íkhtøk ÷tçkkE

(C) ftÃk rðMíkkh (D) ykðíkoLk

078. fÞk rðxk{eLkLku íkuLke Mkr¢Þíkk {kxu fkuçkkÕxLke sYh Ãkzu Au ?

(A) rðxk{eLk Mke (B) rðxk{eLk çke12

(C) rðxk{eLk ze (D) rðxk{eLk yu

079. MkuLxeøkúuz yLku VuhLknkEx çktLku Úk{kuo{exh fÞk W»ýíkk{kLku yuf Mkh¾wt íkkÃk{kLk çkíkkðu Au ?

(A) 40° (B) – 42°

(C) – 40° (D) – 20°

080. ¼khíkLke «Úk{ “5G Massive Multiple Input Multiple Output (MIMO) Radio Lab” Lke fE søÞkyu
þYykík fhðk{kt ykðu÷ Au ?

(A) ykEykExe rËÕne (B) ykEykExe {wtçkE

(C) ykEykExe Yhfe (D) ykEykExe økkiníke

081. Ãkh{kýwLkk Lkk¼e fuLÿ{kt fÞk ½xf nkuÞ Au ?

(A) {kºk «kuxkuLk (B) {kºk E÷uõxÙkuLk

(C) «kuxkuLk íkÚkk E÷uõxÙkuLk çktLku (D) «kuxkuLk íkÚkk LÞwxÙkuLk çktLku
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082. ¼khík{kt çkVeo÷k r[íkk ÃkrhÞkusLkk (Project Snow leopard) Lke þYykík fÞk ð»ko{kt ÚkE níke ?

(A) E.Mk. 2008 (B) E.Mk. 2010

(C) E.Mk. 2009 (D) E.Mk. 2014

083. Lke[u Ëþkoðu÷ Þwø{{ktÚke fÞwt Þwø{ çktÄ çkuMkíkwt LkÚke ?

1. fkuÃkLk nuøkLk rþ¾h Mkt{u÷Lk – 2009

2. çkk÷e hkuz{iÃk – 2008

3. õÞkuxku «kuxkufku÷ – 1997

4. Ãk]Úðe Mkt{u÷Lk (rhÞku + 10) – 2002

(A) 3 (B) 2
(C) 1 (D) 4

084. ¼khík{kt rðïLke «Úk{ f÷kuLk ¼UMk økrh{k yLku økrh{k-II Lke WíÃkr¥k fÞk ð»ko{kt ÚkE níke ?

(A) 1997 (B) 1999
(C) 2001 (D) 2009

085. ¾Lkes rçkËuþ EÂLzÞk r÷r{xuzLke ftÃkLkeLke MÚkkÃkLkk Lke[uLke fE ftÃkLkeLke ¼køkeËkheÚke fhðk{kt ykðLkkh Au ?

1. rnLËwMíkkLk fkuÃkh r÷r{xuz

2. r{Lkh÷ yuõMkÃ÷kuhuþLk ftÃkLke r÷r{xuz

3. hk»xÙeÞ yuÕÞw{erLkÞ{ ftÃkLke r÷r{xuz

(A) 1 yLku 2 (B) 2 yLku 3

(C) 1, 2 yLku 3 (D) 1 yLku 3

086. ðirïf Lkðk[kh Mkq[fktf, 2019 (Global Innovation Index 2019) {kt fÞk ËuþLku «Úk{ MÚkkLk «kÃík ÚkÞu÷ Au ?

(A) ÂMðxTÍh÷uLz (B) MðezLk

(C) y{urhfk (D) [eLk

087. Lkðe rËÕne{kt ykÞkursík ELxhLkuþLk÷ Ãkkur÷Mk yuõMÃkku, 2019{kt ¼khík{kt s LkeŠ{ík MkkiÚke ðsLk{kt nÕfe çkw÷ux «wV
sufux ÷kuL[ fhðk{kt ykðu÷ níkwt íkuLkwt Lkk{ þwt Au ?

(A) hûkk fð[ (B) r{ÄkLke fð[

(C) LkiLkku fð[ (D) ¼k¼k fð[

088. 29{e sw÷kE, 2019 - rðï ðk½ rËðMkLkk yðMkh Ãkh ¼khík{kt ð»ko 2018{kt ÚkÞu÷ ðk½kuLke økýíkheLkk
[kuÚkk [¢Lkk yktfzk ònuh fhðk{kt ykðu÷ níkk, íku yLkwMkkh Lke[uLkk hkßÞku Ãkife fÞk hkßÞ{kt ðk½kuLke MktÏÞk{kt
½xkzku òuðk {¤u÷ Au ?

(A) fýkoxf (B) A¥keMkøkZ

(C) W¥khk¾tz (D) {æÞ «Ëuþ

089. ÞwLkuMfku îkhk fux÷e ¼khíkeÞ ¼k»kkykuLku økt¼eh YÃkÚke Mktfx økúMík (Critically Endangered) økýu÷ Au ?

(A) 42 (B) 197
(C) 220 (D) 122
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090. 9{kt Mkkfo rVÕ{ Mk{khkun{kt Mkðo©uc rVÕ{Lkku ÃkwhMfkh fkuLku {¤u÷ Au ?

(A) ËkðuLkk rðnøkLk (Davena Vihagun) (B) çkw÷çkw÷

(C) LkøkhfeíkoLk (D) ðkufªøk ðeÚk Ä ðeLz

091. ÞwrLkMkuV îkhk ð»ko 2019{kt ònuh fhðk{kt ykðu÷ “Mxux ykuV Ä ðÕzoMk r[ÕzÙLk” rhÃkkuxo yLkwMkkh –  Lke[uLkk rðÄkLk/
rðÄkLkku Ãkife fÞwt rðÄkLk/rðÄkLkku Mkk[wt/Mkk[kt Au ?

1. Ërûký yurþÞkLkk yLÞ ËuþkuLke Mkh¾k{ýe{kt ¼khíkLke ÂMÚkrík yíÞtík ËÞLkeÞ Au.

2. yÕÃk Ãkku»kýLkk fkhýu ¼khíkLkk 35% çkk¤fku ðk{ýk/fwtrXík íkÚkk 17% çkk¤fku Ëwçko¤íkkÚke økúMík Au.

(A) {kºk 1 Mkk[wt (B) 1 yLku 2 çktLku Mkk[kt

(C) {kºk 2 Mkk[wt (D) çktLku rðÄkLkku ¾kuxkt Au

092. Mfq÷ rþûkk økwýð¥kk Mkq[fktf rhÃkkuxo, 2019 yLkwMkkh 20 {kuxk hkßÞku{kt Mkðo©uc «ËþoLk fheLku fÞwt hkßÞ «Úk{ MÚkkLk
Ãkh ykðu÷ Au ?

(A) hksMÚkkLk (B) fýkoxf

(C) fuh÷ (D) {nkhk»xÙ

093. rðï MðkMÚÞ MktøkXLk (WHO) îkhk ð»ko 2019 {kt fÞk çku ËuþkuLku {u÷urhÞk {wõík Ëuþ íkhefu ònuh fhðk{kt ykÔÞk ?

(A) Ãkhkøðu yLku WÍçkurfMíkkLk (B) LkkESheÞk yLku fkUøkku

(C) íktòLkeÞk yLku ytøkku÷k (D) yÕsurhÞk yLku yksuoLxeLkk

094. #rzÞk ELxhLkuþLk÷ røkxkh VuMxeð÷, 2019{kt fE ðeýkLku ykrÄfkrhf heíku ÷kuL[ fhðk{kt ykðe níke ?

(A) [íkwhtøke (B) Ãkw»Ãkk

(C) ykLktËe (D) økktÄðo

095. fkuLkk îkhk íkiÞkh fhðk{kt ykðu÷ rzÍkELk ÷kufÃkk÷Lkk “÷kuøkku” {kxu ÃkMktË fhðk{kt ykðu÷ Au ?

(A) «þktík r{© (B) frÃk÷ r{©

(C) MkqÞoLkkhkÞý r{© (D) Mkwþktík r{©

096. f]r»k yktfzkfeÞ Ãkh yktíkhhk»xÙeÞ Ãkrh»kË (International Conference on Agriculture Statistics) Lkk MktçktÄ{kt
Lke[uLkk rðÄkLkku rð[khýk{kt ÷ku. Lke[uLkk rðÄkLk/rðÄkLkku Ãkife fÞwt rðÄkLk/rðÄkLkku Mkk[wt/Mkk[kt Au.

1. yk Ãkrh»kËLke þYykík ð»ko 1998 {kt ÚkE níke.

2. Lkðu. 2019{kt LÞq rËÕne ¾kíku ÞkuòÞu÷ íkuLkwt ykX{wt yktíkhhk»xÙeÞ Mkt{u÷Lk níkwt.

3. yk Mkt{u÷Lk Ëh ºký ð»kuo Þkusðk{kt ykðu Au.

(A) 1 yLku 3 (B) 2 yLku 3

(C) 1 yLku 2 (D) 1, 2 yLku 3

097. Mk¾khkuð ÃkwhMfkh, 2019 {kxu fkuLke ÃkMktËøke ÚkÞu÷ Au ?

(A) «kuVuMkh EÕnk{ íkkuníke (B) zurðz yuxLkçkhku

(C) ySík ®Mkn (D) hkuçk rðr÷ÞBMk
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098. Ãknu÷wt rçkBMkxuf çktËhøkkn Mkt{u÷Lk, 2019 (First BIMSTEC Ports Conclave, 2019) fÞk MÚk¤u ÞkuòÞu÷ níkwt ?

(A) {wtçkE (B) f÷f¥kk

(C) rðþk¾kÃkèLk{ (D) LÞq rËÕne

099. 14{e yurþÞLk þq®xøk [iÂBÃkÞLkþeÃk, 2019{kt ¼khíkLku fw÷ 26 [tÿfku {¤u÷ Au, íku Ãkife fux÷k Mkwðýo [tÿfku {¤u÷ Au ?

(A) Ãkkt[ (B) çku

(C) ºký (D) [kh

100. ¼khík{k÷k ÃkrhÞkusLkk ytíkøkoík ¼khíkLkku «Úk{ {Õxe-{kuz÷ ÷kursÂMxõMk Ãkkfo fÞk hkßÞ{kt çkLkLkkh Au ?

(A) økwshkík (B) ykMkk{

(C) Ãkrù{ çktøkk¤ (D) W¥khk¾tz
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101. What is the relationship between Orifice-meter diameter and pipe diameter;
(A) Orifice-meter diameter is 0.5 times the pipe diameter
(B) Orifice-meter diameter is one third times the pipe diameter
(C) Orifice-meter diameter is one fourth times the pipe diameter
(D) Orifice-meter diameter is equal to the pipe diameter

102. Water is supplied to the down comer through _______;
(A) Underground Tank (B) Water Main
(C) Terrace Tank (D) Yard Hydrant

103. The efficiency of the pump is the ratio of _______;
(A) The brake power input to the water power output
(B) The water power output to the brake power input
(C) The water power
(D) None of the above

104. The velocity of water from the nozzle varies inversely with the _______;
(A) Acceleration (B) Size of the Nozzle
(C) Pressure (D) None of the above

105. A _______ is the time it takes an occupant to perceive the alarm or fire cue and decide to take
action during evacuation;
(A) Response Time (B) Time To Notification
(C) Travel Time (D) Pre-Evacuation Activity Time

106. A continuous membrane with a fire protection rating constructed to limit the spread of fire is
known as _______;
(A) Smoke Partition (B) Fire Compartment
(C) Fire Barrier (D) Proscenium Wall

107. The underground fire water storage tank(s) shall not be more than _______ in depth from the
level having fire brigade draw-out connection;
(A) 5 meters (B) 6 meters
(C) 7 meters (D) All of the Above

108. As per IS 15105 (2002), the net maximum permissible coverage per sprinkler in light hazard is
_______;
(A) 19 m2 (B) 22 m2

(C) 18 m2 (D) 21 m2

109. Where a high current is discharged along parallel conductors at close proximity, or along a
single conductor with sharp bends, considerable _______ forces are produced. Securing of these
fittings are, therefore, essential;
(A) Mechanical (B) Magnetic
(C) Electric (D) None of the Above

110. _______ is used to indicate the smoothness of the interior of a pipe;
(A) C value (B) K value
(C) F value (D) Q value
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111. The pressure maintained in the yard hydrant system is _______;

(A) 12 kg/cm2 (B) 8 kg/cm2

(C) 10 kg/ cm2 (D) 7 kg/cm2

112. The _______ are liquefied gases that exist in their container at temperatures below -90°C;

(A) Corrosive Gases (B) Pyrophoric Gases

(C) Cryogenic Gases (D) Irritant Gases

113. The occupant load of a mezzanine floor discharging to a floor below shall be _______ to that
floor occupancy and the capacity of the exits shall be designed for the total occupancy load thus
established;

(A) Added (B) Subtracted

(C) Remained Same (D) None of the Above

114. Heat is conducted through a 10 cm thick wall at the rate of 30 W/m2 when the temperature
difference across the wall is 10°C. What is the thermal conductivity (W/m-K) of the wall?

(A) 0.3 (B) 0.03
(C) 3.0 (D) 0.46

115. A liquid flowing in a pipe having a head loss of 2 m in pipe length of 10 m. The Reynolds
number of the flow is 100. If the flow rate is doubled and all other properties remain the same,
the head loss in meters is _______;

(A) 0.5 (B) 8.0

(C) 4.0 (D) 2.0

116. Which of the following sentences are true for Bernoulli’s equation?

(i) Bernoulli’s principle is applicable to ideal incompressible fluid

(ii) The gravity force and pressure forces are only considered in Bernoulli’s principle

(iii) The flow of fluid is rotational for Bernoulli’s principle
(iv) The heat transfer into or out of fluid should be zero to apply Bernoulli’s principle

(A) (i), (ii) and (iii) (B) (i), (iii) and (iv)

(C) (i), (ii) and (iv) (D) (i), (ii), (iii) and (iv)

117. The weakness of risk control system is called as _______;

(A) Lagging Indicator (B) Leading Indicator

(C) Preventive Risk Control System (D) Mitigating Risk Control System

118. In comparing _______, it also is critical to consider the effects of ventilation. Wood can exhibit
a specific charring when adjacent to a ventilation source or an opening where hot gases can
escape;

(A) The Length of Charring (B) The Depth of Charring
(C) The Point of Origin (D) All of the Above

119. Certain solids with a large pore-surface area selectively purify small concentrations of specific
gases. Activated carbon, silica or alumina gel, fuller’s earth and other clays are typical _______;

(A) Adsorbents (B) Absorbents

(C) Scrubber (D) Converter
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120. According to BIS 2189:2008, bi-metal heat detectors are resettable and highly suitable to use
above _______, where electronic components cannot be used;
(A) 180°C (B) 50°C
(C) 80°C (D) 100°C

121. The _______ must only be used when there is sufficient oxygen to sustain life and the air
contaminant level is below the concentration limits of the device;
(A) Air-Supplied Respirator (B) Atmosphere-Supplying Respirator
(C) Air-Purifying Respirator (D) All of the Above

122. An identifiable, adverse physical or mental condition arising from and/or made worse by a
work activity and/or work-related situation is termed as;

(A) An Occupational Hazard (B) An Ill Health
(C) Work Place Hazard (D) All of the Above

123. The important technique used for identification of process hazard is _______:
(A) Petri Net (B) FMEA

(C) HAZOP (D) HTA
124. As per OISD-116, in refinery the water spray application rate of 3 LPM/m2 of tank shell area

for tank on fire are recommended for;
(A) Atmospheric storage tank (B) Pressure Storage Vessels
(C) Process Unit Area (D) LPG Bottling plant

125. The maximum airborne concentration of hazardous substances to which, it is believed, nearly
all workers may be repeatedly exposed day after day without adverse effect is termed as _______;
(A) Permissible Exposure Limit
(B) Immediately dangerous to Life And Health Value
(C) Threshold Limit Value

(D) Ceiling Value
126. Using _______ is effective in containing spills of oil and other floating liquids on relatively calm

and current-free waters.
(A) Booms (B) Straw/Sawdust
(C) Absorbent Pillows (D) All of the Above

127. As per NFPA, _______ fire extinguishers are specifically designed in order to tackle a class F
fire;
(A) Carbon Dioxide (B) Wet Chemical
(C) Foam (D) Water

128. Distance between yard hydrant, in case of Industries of high hazard is _______;

(A) 15 m (B) 30 m
(C) 45 m (D) 20 m

129. Quartz bulb type is a type of _______;
(A) Smoke detector (B) Sprinkler head

(C) Heat detector (D) Flame detector
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130. The single most important step in the detection and analysis of explosive residues is to;
(A) Locate the ignition source.
(B) Create a chain of custody form.
(C) Determine whether it is a low or a high explosive.
(D) Collect appropriate samples from the explosion scene.

131. The _______ is the time from ignition until the specified tenability criteria are exceeded at the
location of interest;
(A) Available Safe Egress Time (ASET) (B) Required Safe Egress Time (RSET)
(C) Evacuation Time (ET) (D) None of the Above

132. A person need not obtain a license for the transport or storage of petroleum _______ if the total
quantity in his possession at any one place does not exceed forty-five thousand litres and such
petroleum is transported or stored in accordance with the rules made under section 4 of the
Petroleum Act, 1934;
(A) Class A (B) Class B
(C) Class C (D) All of the Above

133. The following is (are) generally provided with limit switch to prevent motion beyond preset
limit;
(A) Hoists (B) Conveyors
(C) Machine Tables (D) All of the Above

134. The _______ occupancies have no difference in maximum permitted travel distance for
sprinklered versus un-sprinklered buildings;
(A) Existing Day Care (B) Residential Lodging
(C) Existing Mercantile (D) New Business

135. On donning PPSCBA set for fire-fighting operation, _______ of set need to be checked by the
wearer to carry out pre-entry test;
(A) Air Cylinder (B) Face Mask
(C) Warning Whistle (D) Demand Regulator

136. Considering all potential components in a building, _______ occupancies has the most restrictive
requirements for material flame spread and smoke development;
(A) New Day-Care Centers (B) Existing Duplex Home
(C) Existing Class B Department Store (D) New Large Warehouse

137. In large fire (more than 1 m in diameter), the flames are _______ diffusion flames, due to the
turbulence generated by the strong buoyancy of the flames themselves;
(A) Turbulent (B) Laminar
(C) Pre-mixed (D) All of the Above

138. When analysing the need for a designed product or space, an ergonomic approach need to
address main elements such as;
(A) The User and Work Organisation
(B) Job and Task Characteristic
(C) Work Environment and Equipment Design
(D) All of the above
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139. While testing, the pump of small foam tender shall be run for a period of _______ non-stop
delivering the rated output at 7 kgf/cm2 with the lift of 3 m.
(A) 2 hours (B) 3 hours
(C) 4 hours (D) 5 hours

140. The fire pump shall run for a period of _______ non-stop delivering the rated output at 0.7
MPa and for 1 hours at 3.5 MPa with a lift of 3 meters while conducting testing of fire pump;
(A) Three Hours (B) Four Hours
(C) Five Hours (D) None of the Above

141. The _______ is a combustion explosion that follows the release of a large quantity of flammable
gas or vapor in an outdoor area with conditions that promote rapid flame speeds and associated
pressure increases;
(A) Flash Fires (B) BLEVE
(C) VCE (D) None of the Above

142. When opened or removed, the tripping mechanism and/or power automatically shuts off or
disengages and machine cannot cycle or be started until the machine guard is back in place is
termed as;
(A) Fixed guard (B) Interlocked guard
(C) Adjustable guard (D) Self-adjustable guard

143. This temperature and pressure condition is known as the triple point of _______ because it is
the only condition at which solid, liquid, and vapor can coexist;
(A) Carbon Dioxide (B) Water
(C) Halon (D) Carbon Monoxide

144. The capacity of the underground static tank for internal hydrant system should not be more
than 3.5 m deep having a slope 1:100 and 1 m deep sump of _______ at the lowest end;
(A) 1 x 1 m (B) 1 x 2 m
(C) 2 x 2 m (D) None of the Above

145. If combustion is to be initiated and sustained, all of the following elements must be present
except the;
(A) Application of heat (B) Elimination of carbon monoxide
(C) Presence of a fuel (D) Availability of oxygen

146. A _______ is the previous name of NFPA 101 known as the Life Safety Code now;
(A) Code for Safety to Life from Fire (B) Building Exits Code
(C) Building Energy Code (D) Flammable and Combustible Liquids Code

147. When oxygen drops to the range of _______ a person can be still conscious but may exercise
faulty judgment and will be quickly fatigued;
(A) 19 to 14 percent (B) 14 to 10 percent
(C) 10 to 6 percent (D) All of the Above

148. Major difficulty in an investigation is the;
(A) Loss of evidences due to extinguishing the fire by water
(B) Lack of Officials for Investigation
(C) Lack of Facilities for Investigation
(D) None of the Above
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149. Exposure to noise can cause temporary or permanent damage to the auditory system. The factors
that determine the duration and severity of noise-induced hearing loss are;

(A) Sound Level

(B) Frequency Distribution of Sound

(C) Individual Differences In Tolerance of Sound

(D) All of the Above

150. A new community college building contains 26,000 ft2 of small instructional classrooms, an
entry lobby, restrooms, offices, and a 15,000 ft2 auditorium is considered as _______ type of
occupancy?

(A) Group A, Assembly (B) Group B, Business

(C) Group E, Education (D) Mixed Use

151. In the case of hydrocarbons fire, the formation of carbon monoxide and soot _______ with the
oxygen deficiency;

(A) Decreases (B) Remains Same

(C) Increases (D) None of the Above

152. Fire patterns are the actual physical effects that can be seen or measured after afire which
includes;

(A) Charring (B) Oxidation

(C) Structural Collapse (D) All of the Above

153. The _______ has the lowest rate of false alarms, but it also has the slowest response time;

(A) Heat Detectors (B) Optical Smoke Detectors

(C) Rate of Rise Smoke Detectors (D) None of the Above

154. Fire department personnel should be knowledgeable of and prepared to deal with the following
three principal causes of unsatisfactory sprinkler performance which is/are;

(A) A closed valve in the water supply line

(B) The delivery of an inadequate water supply to the sprinkler system

(C) Occupancy changes that render the installed system unsuitable

(D) All of the Above

155. Most arson fires are started with;

(A) Lead-based paints (B) Petroleum-based accelerants

(C) An oxidizing agent (D) Highly unsaturated oils

156. For dealing with hazardous chemical fires, the most suitable and effective fire-fighting foam is:

(A) AFFF concentrate (B) Hazmat Foam concentrate

(C) Alcohol Resistant Foam Concentrate (D) All of the above

157. The _______ suction where the liquid is held at a level above the suction port of the pump, and
allows liquid to arrive at the pump through gravity;

(A) Flooded (B) Double

(C) End (D) Side
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158. The transition of fire growth (which is usually very rapid) to a fully developed fire is called
_______;
(A) Combustion (B) Flashover
(C) Back-draft (D) All of the Above

159. Chemicals having the LD50 (oral toxicity) values greater than 5 and which owing to their physical
and chemical properties are capable of producing major accident hazard is;
(A) Extremely Toxic (B) Highly Toxic
(C) Toxic (D) All of the above

160. Any real or potential condition that can cause injury, illness, or death to personnel; damage to
or loss of a system, equipment or property; or damage to the environment is called as _______;
(A) Hazard (B) Risk
(C) Mishap (D) Accident

161. The lowest concentration of clean agent fire extinguishant at which an adverse toxicological or
physiological effect has been observed is termed as;
(A) Lowest Observed Adverse Effect Level (LOAEL)
(B) No Observed Adverse Effect Level (NOAEL)
(C) Immediately Dangerous to Life and Health (IDLH)
(D) None of the Above

162. Failure or undesired event that initiates the start of an accident sequence is called as _______:
(A) Initiating Event (B) Pivotal Event
(C) Accident Scenario (D) Mishap

163. Name the dust which is more harmful to and associated with coal causing disease is termed as:
(A) Pneumoconiosis (B) Dermatitis
(C) Silicosis (D) None of the Above

164. During fire investigation, the physical signs and substances that reveal, by implication, how a
fire developed are referred to as _______;
(A) “Fire Indicator” (B) “Fire Pattern”
(C) “Fire Language” (D) All of the Above

165. The _______ is the movement of a chemical through zippers, stitched seams, or imperfections,
such as pinholes, in a protective equipment material:
(A) Degradation (B) Permeation
(C) Penetration (D) Breakthrough time

166. The _______ is the concentration for a conventional eight-hour workday and 40-hour workweek,
to which it is believed that nearly all workers may be repeatedly exposed, day after day, without
adverse effect;
(A) Threshold Limit Value (B) Ceiling
(C) Short-Term Exposure Limit (D) Time-Weighted Average

167. The _______ can be performed without skilled labour;
(A) Dye Penetrant Testing (B) Visual Testing
(C) Ultrasonic Testing (D) Magnetic Particle Testing
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168. Fire resistance is a property of an element of building construction and is the measure of its
ability to satisfy the _______ criteria for a stated period;
(A) Integrity (B) Insulation
(C) Stability (D) All of the Above

169. Which of the following is not a preferred interface between fire alarm and smoke control systems
due to the requirement for equipment to be listed as compatible?
(A) Equipment connected to Building Automation/Management System, which is connected to

Fire Alarm by network connection
(B) Equipment connected to Building Automation/Management System, which is connected to

Fire Alarm by electrical contact/relays
(C) Digital Control Equipment connected directly to Fire Alarm System via network connection
(D) Mechanical Equipment connected directly to Fire Alarm System via contacts/relays

170. Degassing prevents or reduces the amount of organic volatile compounds released into the
atmosphere during vapor and gas freeing, ventilation, entry and tank cleaning operations by
collecting or treating vapors and gases removed from a tank. Degassing is accomplished by
_______;
(A) Thermal Oxidation (B) Refrigeration
(C) Carbon Adsorption (D) All of the Above

171. The Occupational Safety, Health and Working Conditions Code, 2020 shall not apply to the
offices of the _______;
(A) The Central Government (B) The State Government
(C) Any Ship of War of any Nationality (D) All of the Above

172. A _______ will detect hydrocarbons only in the vapour form and may not detect the presence of
oils with flash points substantially above ambient temperatures;
(A) Combustible Gas Detector (B) Oxygen Meter
(C) Toxic Gas Detector (D) All of the Above

173. Two 9 litre water expelling extinguisher or ABC 5 Kg/6 Kg fire extinguisher, for every 200 m2

with minimum of 4 extinguishers for Class A fire, per compartment/floor is to be installed in:
(A) Low Hazard Occupancy (B) Medium Hazard Occupancy
(C) High Hazard Occupancy (D) Special Hazard Occupancy

174. Principal conditions affecting coal’s susceptibility to spontaneous heating include the;
(A) Friability (B) Moisture Assists Oxidation
(C) Chemical Composition of the Coal (D) All of the Above

175. The _______ the Heat Release Rate in a given compartment, the faster the compartment fills
with hot gases and products of combustion;
(A) Lower (B) Constant
(C) Higher (D) None of the Above

176. As per OSHA, an Oxygen Enrich Atmosphere means an atmosphere with an oxygen content
above _______ by volume;
(A) 16% (B) 19.5%
(C) 22% (D) 23.5%
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177. The risk associated with degradation of system is called as _______;

(A) Individual risk (B) Societal risk

(C) Entropy risk (D) Residual risk

178. The NFPA 704 Diamond provides an easy method of recognizing hazards of chemicals in which
Right Square, Colour-Coded Yellow indicates;

(A) Reactivity Hazards (B) Flammability Hazards

(C) Health Hazards (D) Special Information

179. In an ordinary hazard industrial occupancy, 0.2 inches (0.5 cm) of exit capacity is required per
person. This means that a minimum size door of 36 inches (91.4 cm) clear width would allow
the passage of _______;

(A) 180 People (B) 72 People

(C) 7.2 People (D) None of the Above

180. The IS specification for code of practice for installation and maintenance of internal hydrants
and hose reels on premises is _______;

(A) IS 4190 : 1992 (B) IS 5189 : 1999

(C) IS 3844 : 1989 (D) IS 4808 : 1979

181. A higher _______ implies that there may be more soot in the flame to enhance radiant flame
heat transfer, leading to higher heat release rates, more extensive flame spread, and higher
burning rates;

(A) Smoke Yield (B) Heat Yield

(C) Carbon Yield (D) All of the above

182. As per NBC-2016, any addition or alterations or construction of cubicles or partitioning, for
floor area exceeding _______ for all high rise buildings shall be done with the approval of local
fire authority;

(A) 100 m2 (B) 200 m2

(C) 500 m2 (D) All of the Above

183. Equilibrium pressure developed in a normally charged and pressurized extinguisher conditioned
at 27±  5°C for at least 18 hours stored pressure or pressure generated during actuation of gas
cartridge is termed as;

(A) Service Pressure (B) Maximum Service Pressure

(C) Minimum Burst Pressure (D) Test Pressure

184. According to BIS 2175 - 1988, the Fixed Temperature Heat Sensitive Detector is;

(A) A linear form of detector in which the detection process may take place anywhere along its
length.

(B) A detector not designed to be easily removed from its normal operating position for
maintenance and servicing purposes.

(C) A detector designed to operate when the temperature of detector exceeds a pre-determined
value.

(D) None of the Above
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185. In most chemical reactions, a rise of _______ in temperature doubles or triples the reaction
rate;

(A) 10 degrees Celsius (B) 23 degrees Fahrenheit

(C) 15 degrees Fahrenheit (D) 18 degrees Celsius

186. The following devices are all Horn-strobe-Bell-Light plate-sounder;

(A) Alerting Devices (B) Audio Visual Devices

(C) Notification Devices (D) Signaling Terminals

187. When pumping from an open supply, the pressure on the inlet side of pump can be so low that
water can vapourise at the ambient temperature, forming vapour bubbles and giving rattling
sound is termed as;

(A) Water Hammer (B) Cavitation

(C) Suction Head (D) None of the Above

188. The technique is a structured brainstorming approach using specific guide-words to examine
each part of a process plant at detailed design level prior to construction to identify hazards
and risk is;

(A) Event Tree Analysis (B) Fault Tree Analysis

(C) Hazard & Operability Studies (D) Preliminary Hazard Analysis

189. _______, also known as command post exercises, are designed to test and evaluate individual
capabilities, multiple functions or activities within a function, or interdependent groups of
functions. Functional exercises are generally focused on exercising the plans, policies, procedures,
and staffs of the direction and control nodes of incident command;

(A) Table Top Exercises (B) Full Scale Exercises

(C) Functional Exercises (D) None of the Above

190. The head (pressure in terms of height of liquid) developed by centrifugal pump is approximately
equal to the _______ at the periphery of the impeller;

(A) Velocity Energy (B) Pressure Energy

(C) Rotational Energy (D) None of the Above

191. Hard hats are divided into three industrial classes. The hard hat which provide impact and
penetration resistance along with limited voltage protection (up to 2,200 volts) is classed as;

(A) Class A Hard Hats (B) Class B Hard Hats

(C) Class C Hard Hats (D) None of the Above

192. Incident Command System’s organizational structure includes five major functional areas:
command, operations, planning, _______, and finance/administration;

(A) Logistics (B) Liaison

(C) Safety (D) Public Information Officer

193. Internal exposure due to nuclear radiation at the time of a fire emergency can be judged by the
use of radiation _______, which measure radiation in roentgens;

(A) Survey Meter (B) Contamination Monitor

(C) Dosimeter (D) All of the Above
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194. The _______ is the placement of a device on an energy isolating device, in accordance with an
established procedure, ensuring that the energy isolating device and the equipment being
controlled cannot be operated until the device is removed;
(A) Tag out (B) Lockout
(C) Isolation (D) All of the Above

195. Every employer of any establishment, which comes into existence after the commencement of
The Occupational Safety, Health and Working Conditions Code, 2020; and to which this Code
shall apply, shall, within _______ from the date of such applicability of this Code, make an
application electronically to the registering officer appointed by the appropriate Government
for the registration of such establishment;
(A) Thirty Days (B) Sixty Days
(C) Ninety Days (D) Any Time

196. A building addition is to connect two existing buildings of different construction types. Which
of the following construction type arrangement is always permissible?
(A) Provide the least fire-resistive construction type of the connected portions with no fire

barrier separation
(B) Provide 1-hour vertically aligned fire barrier wall is installed between them to create separate

buildings
(C) Provide any construction type for the connection portion with 2-hour fire barrier between

buildings
(D) None of the above

197. The effectiveness of a fine water mist depends on _______ and the size and location of openings;
(A) The Momentum and Direction of the Spray relative to the Fire
(B) Droplet Size
(C) The Compartment Geometry and Size
(D) All of the Above

198. As per IS 15105 (2002), the minimum pressure at the remotest sprinkler in moderate hazard
should be _______ bar;
(A) 0.50 (B) 0.45
(C) 0.20 (D) 0.70

199. The disclosure of information via Material Safety Data Sheets (MSDS) by _______ to workers
on chemical hazards is a statutory requirement;
(A) Transporters (B) Safety Committee
(C) Occupiers (D) Plant Supervisor

200. According to IS 13039, the hydrant should be installed at every _______ meters in case in industry
of high hazard category;
(A) 30 m (B) 40 m
(C) 50 m (D) 70 m

201. The dry chemical powder shall deemed to have passed the resistance to _______ test if the
penetration of the needle is found more than 15 mm;
(A) Water Repellency (B) Apparent Density
(C) Efficient Fluidity (D) Caking and Lumping
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202. Materials absorb heat and form a hard char with thermal insulation characteristics to help seal
voids when exposed to heat is the fire stop technology termed as;
(A) Intumescent (B) Endothermic
(C) Insulative (D) Ablative

203. Refuse chutes, if any provided in a building, shall have opening at least _______ above roof
level for venting purpose and they shall have an enclosure wall of non-combustible material
with fire resistance of not less than 120 min;
(A) 1.0 meter (B) 1.5 meter
(C) 2.0 meter (D) All of the Above

204. The Clauses in ‘The Occupational Safety, Health and Working Conditions Code, 2020’ relates
to facilities to Inter-State Migrant workers. Such facilities shall be provided by the contractor
or employer of an establishment employing Inter-State Migrant worker for the purposes as
specified in the clause as:

(A) Journey Allowance (B) Public Distribution System
(C) Toll Free Helpline (D) All of the Above

205. The _______ is classified into two groups as primary and secondary explosives;
(A) Low explosives (B) Medium explosives

(C) All explosives (D) High explosives
206. A sample of dry chemical powder shall be deemed to have met the requirement of hygroscopicity,

if the percentage gain in mass due to moisture absorption does not exceed _______;
(A) 1.5 percent (B) 2.0 percent
(C) 2.5 percent (D) 3.0 percent

207. The travel distance for employees to reach a Class A portable fire extinguisher is _______;
(A) 50 feet (15.24 m) (B) 55 feet (16.76 m)
(C) 65 feet (19.81 m) (D) 75 feet (22.9 m)

208. A _______ provides for immediate, general evacuation of the areas of the building nearest the
fire incident with continuing, selective evacuation of all other building areas;

(A) Partial or Zoned Evacuation (B) Phased Evacuation
(C) Delayed Evacuation (D) All of the Above

209. When one refers to the “layer checking technique” in arson investigation, what is being described
as;
(A) Process of checking through the layers of material stacked on top of each other after a fire.

(B) Analysis of materials for the presence of accelerant.
(C) Investigation of all suspects beginning with the prime suspect and working down to the

least likely suspect.
(D) Method used to identify the most likely motive.

210. For pressurization of enclosed staircases adjacent to non-pressurized lobby (or corridors), the
pressure differential shall be;

(A) 30 Pa (B) 40 Pa
(C) 50 Pa (D) 55 Pa
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211. The parameter which is closely related to the steering geometry and the suspension system of
the fire vehicle and the effectiveness of this specification is clearly evident while maneuvering
in a crunchy parking space is a _______;
(A) Turning Circle (B) Wheel Base
(C) Road Clearance (D) All of the Above

212. The _______ colour of the bulb of a sprinkler head indicates a rating of 68° C;
(A) Yellow (B) Green
(C) Blue (D) Red

213. Friction loss varies directly with the _______;
(A) Diameter of Pipe (B) Length of Pipe
(C) Material of Pipe (D) None of the above

214. At higher altitudes or under conditions of reduced barometric pressure, the relative proportions
of oxygen and nitrogen remain the _______, but the partial pressure of each gas is decreased;
(A) Low (B) High
(C) Same (D) None of the Above

215. The function of the nozzle at the end of hose line is to convert pressure energy into _______;
(A) Potential Energy (B) Chemical Energy
(C) Kinetic Energy (D) None of the above

216. The _______ measurements are commonly used for assessing the quality, water-retention ability
and stability of aqueous foams used in fire-fighting applications;
(A) Burn-back Resistance (B) Drainage Time
(C) Compatibility (D) Viscosity

217. In Cathodic Protection system, the structure (pipe) to be protected should become as _______;
(A) Anode (B) Cathode
(C) Electrolyte (D) Copper Sulphate

218. Down comer is fitted with _______ at roof level;
(A) Rotating valve (B) Drain valve
(C) Landing valve (D) Air release valve

219. According to BIS 2189:2008, siting and spacing of detectors under flat ceilings, the horizontal
distance between any point in a protected area and the detector nearest to that point shall not
exceed _______ in case of heat detector;
(A) 7.5 m (B) 8.5 m
(C) 9.5 m (D) 5.3 m

220. The first pump to start in the fixed fire-fighting installation in case of fire is _______ pump;
(A) Jockey (B) Centrifugal
(C) Piston (D) Rotary

221. Stored-pressure extinguishers shall not leak at a rate exceeding five percent per _______ of
service pressure;
(A) Quarter (B) Half-yearly
(C) Annum (D) All of the Above
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222. The _______ code is better known as National Fire Alarm Code;
(A) NFPA 1 (B) NFPA 72
(C) NFPA 1912 (D) None of the above

223. In case of wild-land fires, as the steepness of the slope _______, the rate of fire spread increases:
(A) Decreases (B) Increases
(C) Remains Same (D) None of the Above

224. According to NFPA 13E, the supply line should be pumped and the line charged to a pressure of
_______;
(A) 20.0 bar (B) 40.0 bar
(C) 10.0 bar (D) 20.0 bar

225. Fire Department connection (Fire service inlet) is;
(A) Siamese connection with two 2 ½” female connections with clapper valve
(B) Siamese connection with two 2 ½” male connections with clapper valve
(C) Siamese connection with two 2 ½” female connections with clapper valve and located outside

the building
(D) Siamese connection with two 2 ½” male connections with clapper valve and located outside

the building
226. The risk of an electrical fire can be reduced by using the proper size conductor for the load,

suitable insulation for the environment, and the correct size overcurrent protection such as
_______;
(A) Fuse (B) MCB
(C) ELCB (D) All of the Above

227. NFPA 704 Diamond was developed for _______;
(A) Emergency responders (B) Architects
(C) Transportation workers (D) Doctors

228. The Friction factor for non-percolating hose would be _______;
(A) 0.001 (B) 0.005
(C) 0.007 (D) 0.003

229. During water relay, if compound gauge of any intermediate pump shows reading on pressure
side, it means that the pump is delivering _______ than received;
(A) No Water (B) More Water
(C) Less Water (D) None of the Above

230. Temporary buildings and structures shall not be permitted in _______ as per NBC – 2016;
(A) Fire Zone No. 1 (B) Fire Zone No. 2
(C) Fire Zone No. 3 (D) All of the Above

231. A four-story low-rise senior retirement living facility is being designed without the need for
health support services. Which of the following areas, which each serve the entire floor level,
does not require a minimum of one-hour fire resistance rating?
(A) 300 sq ft Laundry Room (B) 50 sq ft Trash Room
(C) 100 sq ft Storage Room (D) All of the above
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232. A high-rise building is to use a pressurized tank (half air-half water) to supply automatic sprinkler
systems. If hydraulic calculations determine that 55 psi is required to supply the sprinkler
system, what tank pressure is required?
(A) 55 psi (B) 95 psi
(C) 125 psi (D) 140 psi

233. A new building is to have a wet pipe fire sprinkler system connected to an existing city mains,
the _______ is not required by NFPA 13 for the fire sprinkler system or underground service;
(A) Flushing Test (B) Hydrostatic Test
(C) Mains Drain Test (D) Water Delivery Test

234. The maximum level of water which can be lifted by priming of the centrifugal pump is _______;
(A) 10 meters (B) 12 meters
(C) 9 meters (D) 11 meters

235. The _______ code requires that your fire alarm system or sprinkler monitoring system needs to
be tested and inspected;
(A) NFPA 70E (B) NFPA 72
(C) NFPA 78 (D) NFPA 18

236. The dry pipe sprinkler system is used in _______;
(A) Flour mills (B) Coal yards
(C) Cold storages (D) Timber depots

237. The IS specification for automatic sprinkler head is _______;
(A) 9972:2002 (B) 10204:1982
(C) 11070:1984 (D) 11101:1984

238. Any liquid that has a closed-cup flash point at or above 100°F (37.8°C), as determined by the
test procedures is termed as _______:
(A) Combustible Solid (B) Combustible Gas
(C) Combustible Liquid (D) Combustible Dust

239. The level of fire protection to be provided at an airport is based on the _______ of the aeroplanes
using the airport and its frequency of operations;
(A) Capacity of Aircraft (B) Length of Aircraft
(C) Width of Aircraft (D) None of the Above

240. Ultrasonic devices operate on a principle of the length of time it takes for sound waves to reflect
from a surface to measure metal _______;
(A) Corrosion (B) Thickness
(C) Strength (D) All of the Above

241. The minimum internal diameter of dry riser is _______;
(A) 100 mm (B) 120 mm
(C) 150 mm (D) 200 mm

242. Locations may be distinguished when failure of process, storage or other equipment is likely to
cause an electrical system failure simultaneously with the release of flammable gas or liquid as;
(A) Zone 0 Areas (B) Zone 1 Areas
(C) Zone 2 Areas (D) All of the Above
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243. The _______ is the name of the device that you pull to activate the alarm;

(A) Fire Alarm Lever (B) Fire Alarm Pull Station

(C) Fire Alarm Panel (D) Fire Alarm Master Box

244. To reduce the likelihood of ignition of a gas or dust by adding chemical inhibitors to raise the
_______;

(A) Lower Flammability Limit (B) Upper Flammability Limit

(C) Explosive Limit (D) None of the Above

245. As per NFPA, if a cream coloured band is located over the fire extinguisher, it indicates that the
fire extinguisher is of the _______ type;

(A) Water (B) Dry Powder

(C) Foam (D) Carbon Dioxide

246. The susceptibility of various types of wall surfaces to fire is determined in terms of the rate of
spread of flame. According to NBC of India, match the following based on the rate of spread of
flame:

 List I  List II

a. Class 1 1. Surfaces of low flame spread

b. Class 2 2. Surfaces of very low flame spread

c. Class 3 3. Surfaces of rapid flame spread

d. Class 4 4. Surfaces of medium flame spread

(A) a-2, b-1, c-4, d-3 (B) a-4, b-3, c-2, d-1

(C) a-1, b-4, c-3, d-2 (D) a-3, b-2, c-1, d-4

247. Worker found not using fall back arrester while coming down through vertical ladder though
the worker was using safety belt. Hazardous element in the above situation is _______;

(A) Not Using Fall Back Arrester (B) Vertical Ladder

(C) Safety Belt (D) Worker

248. If the shape of the orifice is changed so as to decrease the contraction, its capacity will be
_______:

(A) Decreased (B) Increased

(C) Remained Same (D) None of the above

249. As per NBC-2016, a substation or a switch-station with oil filled equipment shall be limited to
be installed in utility building or in outdoor location. Such substation/utility building shall be at
least _______ away from the adjoining building(s);

(A) 6 meters (B) 7 meters

(C) 8 meters (D) None of the Above

250. It includes the weight of all permanent fixed items, such as floor framing, walls, ceilings, roofing,
and major fixed service equipment, but excludes loads from variable items, such as furnishings,
people, traffic, and equipment, that change constantly throughout the building’s life is;

(A) Fire Load (B) Dead Load

(C) Live Load (D) All of the above
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251. Find UFL of a gas mixture composed of 8.8% propane, 2.2% methane, 1.5% butane and rest is
air by volume? [Propane = 9.5 % ; Methane = 15%; Butane = 8.4 %]
(A) 9.98 % (B) 12.50 %
(C) 7.01 % (D) 12.92 %

252. According to BIS 2189:2008, requirements for detection zones should be such that the floor
area of a single zone shall not exceed _______;
(A) 2000 meter square (B) 12000 meter square
(C) 100 meter square (D) 200 meter square

253. Floating roof tanks, cone roof tanks with internal floating roofs, lifter roof tanks, and vapor
dome tanks are also used for vapor conservation purposes for _______;
(A) Class I liquids (B) Class II liquids
(C) Class III liquids (D) None of the Above

254. The frequency and the number of people suffering a given level of harm from the realization of
specified hazards is known as _______;
(A) Individual Risk (B) Societal Risk
(C) Entropy Risk (D) Residual Risk

255. The refuge area shall be provided on the periphery of the floor and open to air at least on one
side protected with suitable railings. Refuge area(s) shall be provided at/or immediately above
24 m and thereafter at every _______ or so;
(A) 15 meters (B) 12 meters
(C) 9 meters (D) All of the Above

256. Hot gaseous fire releases radiant energy in the form of _______;
(A) Infra-Red Radiation (B) Visible Light
(C) Ultraviolet Radiation (D) All of the Above

257. The maximum number of heads for one set of controlling valve in wet pipe system is _______;
(A) 1250 (B) 1500
(C) 1750 (D) 2000

258. A _______ is the structural means whereby a safe route is provided for persons to travel from
any point in a building to a place of safety without outside assistance;
(A) Final Exit (B) Means of Escape
(C) Travel Distance (D) All of the Above

259. According to IS 15105 (2002), the number of sprinklers in one installation shall not exceed the
_______ in light hazard;
(A) 300 (B) 500
(C) 250 (D) 400

260. The ventilation system should provide sufficient air movement to maintain the vapor
concentration below 25 percent of the _______ in the area where vapors are being liberated;
(A) Upper flammable limit (UFL) (B) Lower flammable limit (LFL)
(C) Flammability Range (D) None of the above

261. Any liquid with a flash point at or above 37.8°C (100°F) and below 93.3°C (200°F) is;
(A) Flammable Liquid (B) Flammable Solid
(C) Flammable Gases (D) Combustible Liquid
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262. After installation the system should be capable of withstanding pressure equal to _______ of
the maximum working pressure for 2 hours;

(A) 100 percent (B) 120 percent

(C) 150 percent (D) None of the Above

263. If the velocity of flow in the pipe is increased from 2 m/s to 4 m/s, calculate the increase in the
loss of pressure due to friction;

(A) 3.6 times (B) 4.2 times

(C) 5.4 times (D) 2.0 times

264. For a performance-based design, a fire protection consultant makes an assumption that the
production rate of carbon monoxide for a modeled fire package is equal to the highest production
rate of each of the component fuels. This assumption would be considered:

(A) Explicit Safety Factor (B) Implied Safety Factor

(C) Total Safety Factor (D) No Safety Factor

265. As per Gujarat Fire Prevention and Life Safety Regulation, 2016, any person who wilfully
obstructs or interferes with any member of the Fire Service who is engaged in firefighting
operations, shall be punished with imprisonment for a term which may extend to three months,
or with fine which may extend to _______, or with both;

(A) Three Thousand Rupees (B) Five Thousand Rupees

(C) Seven Thousand Rupees (D) Ten Thousand Rupees

266. As per Gujarat Fire Prevention and Life Safety Regulation, 2016, fire alarm system with smoke
detection shall be provided for all non-residential buildings having height of _______;

(A) Less than 25 meters (B) More than 25 meters

(C) Less than 24 meters (D) More than 24 meters

267. Liquid penetrant testing is based on the principle of _______;

(A) Polarized Sound Waves in a Liquid (B) Magnetic Domains

(C) Absorption of X-rays (D) Capillary Action

268. Two basic types of smoke detectors are;

(A) Ionization & Rate of Rise (B) Ionization & Photo Electric

(C) Photo Electric & Rate of Rise (D) Rate of Rise & Flame

269. The minimum orifice dia. of the sprinkler in high hazard should be _______;

(A) 10 mm (B) 12 mm

(C) 15 mm (D) 18 mm

270. As per NBC-2016, openable panels of glass façade shall be provided on _______ and shall be
spaced not more than 10 meters apart measured along the external wall from centre-to-centre
of the access openings;

(A) Each Floor (B) Alternate Floor

(C) No Floor at All (D) None of the Above
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271. The Code on Social Security, 2020 (Code), which received the Presidential Assent on 28th

September, 2020, subsumes regulations relating to social security, retirement and employee
benefits, such as;
(A) The Employees Compensation Act, 1923
(B) The Employees State Insurance Act, 1948
(C) The Maternity Benefit Act, 1961
(D) All of the Above

272. Arson investigations are;
(A) Clearly the responsibility of the police service.
(B) Clearly the responsibility of the fire service.
(C) Fall between police and fire department responsibility.
(D) Clearly the sole responsibility of the insurance companies.

273. The _______ is a time in fire growth where flames are beginning to touch the ceiling. The heat
release rate when flames touch the ceiling is generally 800 kW to 1 MW and flames will just be
beginning to roll over on the ceiling;
(A) Vigorous Burning (B) Interactive Burning
(C) Remote Burning (D) Full Room Involvement

274. Life of CO2 type fire extinguisher is;
(A) Five Years (B) Ten Years
(C) Fifteen Years (D) None of the Above

275. The _______ types of detectors can be used for large ducts;
(A) Beam Detector (B) Ionization Detector
(C) Optical Detector (D) None of the Above

276. As per UN and Department of Transportation, the classification of hazardous material, Class 3
indicate;
(A) Flammable liquid (B) Flammable Solids
(C) Corrosive (D) Radioactive

277. A chemical transformation in which heat energy is liberated is called;
(A) Exothermic reaction (B) Combustion
(C) Endothermic reaction (D) Mesothermic reaction

278. Instrument Barometer is used to measure _______;
(A) Atmospheric pressure (B) Atmospheric temperature
(C) Atmospheric humidity (D) None of the above

279. The firefighting shaft (Fire Tower) shall be equipped with _______ fire resistance rating fire
doors with firemen talk-back, wet riser and landing valve in its lobby;
(A) 60 min (B) 120 min
(C) 180 min (D) 240 min

280. According to BIS 2189:2008, Smoke detectors should be installed that the sensing element is
not less than _______ and not more than _______ below the ceiling level;
(A) 25 mm, 150 mm (B) 2 m, 5 m
(C) 10 mm, 15 mm (D) 25 mm, 600 mm
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281. A 50% straight dynamite contains;
(A) 5% of trinitrotoluene (TNT). (B) 5% of nitroglycerin.
(C) 50% of nitroglycerin. (D) 50% of trinitrotoluene (TNT).

282. All uninsulated pipes having temperatures above _______ (heat resistant Aluminium painted)
need not be identified with colour bands. As special case, if required colour bands may be
applied using Teflon Tape;
(A) 100° C (B) 80° C
(C) 50° C (D) All of the Above

283. According to IS 13039, the minimum pressure at the remotest hydrant should not be less than
_______ kg/cm2 in case in industry of light hazard category;
(A) 0.5 kg/cm2 (B) 1.5 kg/cm2

(C) 2.5 kg/cm2 (D) 3.5 kg/cm2

284. All the following are common indicators on a fire alarm panel except _______;
(A) Alarm (B) Supervisory
(C) Trouble (D) Smoke Level

285. The warning device of PPSCBA shall respond to at the latest when only _______ of the total
breathing air volume is left;
(A) One-third (B) One- fourth
(C) One-fifth (D) One-half

286. The _______ gases are flammable gases that spontaneously ignite in air;
(A) Cryogenic (B) Oxidizing
(C) Pyrophoric (D) Unstable Reactive

287. _______ can be used as insulating live-line tools for electrical protection;
(A) Shotgun sticks (B) Switch sticks
(C) Hot sticks (D) All of the above

288. Exit access to fireman’s lift and refuge area on the floor shall be step free and clearly sign
posted with the _______ of accessibility;
(A) National Symbol (B) International Symbol
(C) Local Symbol (D) All of the Above

289. In case of fire pump, generally _______ is used;
(A) IC engine (B) Hybrid engine
(C) Battery (D) None of the above

290. The cycle of disaster management consists of the following components:
(A) Mitigation, Preparedness, Response, Recovery
(B) Preparedness, vulnerability assessment, risk assessment, recovery
(C) Mitigation, Risk assessment, Response and Recovery
(D) None of the above

291. Check list for Job Safety Analysis (JSA) consists of;
(A) Men, Machine, Material, Tools (B) Work Area, Material, Machine, Tools
(C) Men, Machine, Work Area, Tools (D) Men, Work Area. Material, Tools
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292. The National Authority of Disaster Management shall consist of the Chairperson and such
number of other members, not exceeding _______, as may be prescribed by the Central
Government and, unless the rules otherwise provide.
(A) Seven (B) Eight
(C) Nine (D) All of the Above

293. If a solution PH value is 9, then the nature of solution would be _______;
(A) Alkaline (B) Neutral
(C) Acidic (D) None of the Above

294. The _______ recommends that the water-flow alarm be adjusted so that it is initiated within
ninety seconds of a sustained flow equal to or greater than that of a single sprinkler (smallest
orifice) that can be installed in a system;
(A) NFPA 70 (B) NFPA 71
(C) NFPA 72 (D) NFPA 73

295. A circular RCC tank having 7 meter diameter and 2 meter height. Choose the correct capacity
of the tank in liter;
(A) 77000 liter (B) 80000 liter
(C) 85000 liter (D) 90000 liter

296. As per _______, the total number of members of the Grievance Redressal Committee (GRC)
shall not exceed ten, provided that there shall be adequate representation of women workers in
the GRC and such representation shall not be less than the proportion of women workers to the
total workers employed in the industrial establishment.
(A) The Code on Social Security, 2020
(B) The Industrial Relations Code, 2020
(C) The Occupational Safety, Health and Working Conditions Code, 2020
(D) None of the Above

297. An international institute that provides testing services for the public, maintains and operates
laboratories for testing devices, systems, materials and determines whether they meet safety
standards affecting life and property is;
(A) NFPA (B) UL
(C) FM (D) ANSI

298. When installed in an open area, the inlet valve and nozzle retainer of the hose reel should be at
least _______ above floor level;
(A) 700 mm (B) 800 mm
(C) 900 mm (D) 1000 mm

299. The mixing of high velocity water droplets with burning oil is called _______;
(A) Emulsification (B) Flooding
(C) Accumulation (D) Dilution

300. “Major accident” means an off-site incident involving loss of life outside the installation, or
_______ injuries outside or release of toxic chemicals or explosion or fire or spillage of hazardous
chemicals resulting in off-site emergencies or damage to equipment leading to stoppage of process
or adverse effects to the environment;
(A) One or More (B) Ten or More
(C) Twenty or More (D) All of the Above
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